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1 |a) | Explain the system of forces? 7M | CO1 | BL1
Two forces of 100 N and 150 N are acting simultaneously at a
b)| point. What is the resultant of these two forces, if the angle 7M | CO1 | BL1
between them is 450 ?
" 2o G TUY
2 |a) | Explain the polygon law of forces? 7M | CO1 | BL1
The following forces act at appoint:
(i)20N inclined at 30° towards North of East
(ii)25N towards North
B (iii) 30N towards North West and 7BE | EOY | S
(iv) 3 N inclined at 40° towards South of West
Find the magnitude and direction of the resultant force.
3 |a) Eyfpl'ain the terms : (i) Coefficient of friction (ii) laws of oM | coz | BL1
friction.
b) | Describe he equilibrium of a body on a rough inclined plane. | 7M | CO2 | BL2
4 |a) | Explain the working of simple screw jack? 7M | CO2 | BL1
Find the horizontal force required to drag a body of weight
b)| 100 N along a horizonal plane. If the plane, when gradually | 7M | CO3 | BL4
raised up to 159, the body will begin to slide.
T o .
5 |a) Define the cen.trond : Explalr} briefly how do you find the 7M | co3 | BL1
centre of gravity of a plane figure.
b) Flnq the centre of gravity ofa 100 mm x 150 mm x 30 mm t - M | co3 | BL3
section.
6 |a) State and prove the perpendicular axis theorem applied to oM | cos | BL1
moment of inertia.
Find the moment of inertia of a rectangular section 30 mm
) wide and 40 mm deep about X-X axis and Y-Y axis. i e e R




7 |a) DESCI‘lb(.?. the m.ethod of finding out the moment of inertia of a 7M | cos | BL3
composite section.

b) | Describe the types of motion? 7M | CO5 | BL2

8 |a) | Explain about the D’Alembert’s Principle? 7M | COS5 | BL3

A machine gun of mass 25 kg fires a bullet of mass 30 grams -
b)| with a velocity of 250 m/s. Find the velocity with which the 7M | CO5 | BL3
machine gun will recoil.
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